ITI Painter (General) 2nd Year Module 7 Recovering & Repainting

(1). Which painting method is suitable and easy for novelty or decorative articles
painting? | Aldec! a1 Foac! fféama UfeT o fog &1 ot ufeT fafey Sugad sik
3T 82

(A) Aerosol spray painting | mﬂ@[ﬁﬁ'ﬂ

(B) Electrostatic spray painting | sﬁa@@%@ﬁﬁw
(C) Gravity feed spray painting | Wﬁmuﬂ@@ﬁﬁﬂ
(D) Airless spray painting | W@aﬁﬂ

Correct Answer : A

(2). What is the total thickness of automotive painting finish? | 3ffcHIfea gfeT

fopfAr Bt o HieTs T E?
(A) 80 to 90 micron

(B) 50 to 60 micron

(C) 40 to 50 micron

(D) 100 micron

Correct Answer : A

(3). Where polishing is done? | ﬁ%&l"fﬁﬁﬁﬁé?
(A) On top coat | M Ple R

(B) On primer coat | WWW

(C) On surfacer coat | qhYg dle W

(D) On putty coat | Q@WW



Correct Answer : A

(4). What is the name of tool? | ¢cf T TH HI %?

(A) Claw hammer | WT%IIT

(B) Ball peen hammer | CINIG %HQ
(C) Cross peen hammer | w”mtﬂ?‘s’ﬁlsl
(D) Planishing hammer | l@Ilﬁ&l‘l%ﬂ?

Correct Answer : D

(5). Which color defect occurs due to excessive humidity in the climate? | SIcId[Y]

o arafiies T &% HRUT B AT SN BT 82
(A) Run down | T 813

(B) Chalking | @il

(C) Dryspray | §T8 &

(D) Blistering | &R AT

Correct Answer : D

(6). How to repair 'Loss of Gloss’ from a painted surface? | %ﬁ@gﬂﬂg@ g
3Tt AT B} TR ol D ?




(A) Apply thinner by spray and repaint the surface | ﬁmmaﬂlﬁ 3R
Tag I AT

(B) Use fine polishing and finish with high-gloss polish | Bﬁ-ﬂﬁﬂ%ﬁ?{aﬁm
ORI SR MR &1 Suam &%

(C) Remove all coating, and repaint the surface | H“—ﬁﬁﬁ"[ﬁmﬁ, GﬁTWﬁ
iR 9 U Y

(D) Repaint surface | Wﬁﬁﬂ@ﬁfﬁ

Correct Answer : B

(7). What is the name of device? | %HWW:IWW%?

(A) Punching machine | Ui A=A
(B) Dent puller | QEEKN

(C) House-hold plunger | BISU-8ITS WO
(D) Planishing hammer | @lﬁl?l‘l%ﬂ?

Correct Answer : B

(8). Which painting defect occurs, if there is moisture between primer and top

coat? | W@Tﬁﬁf%@ﬂﬁ@ﬁmﬁqwaﬁﬂmm%?
(A) Chipping | faftm



(B) Blistering | fedT&e ¥
(C) Sagging | TR
(D) Pin holes | ﬁqﬁﬁ

Correct Answer : B

(9). When lacquer used while painting an automobile? | &ﬁaﬁwﬁﬂzmﬁ
TG TR DT YA & T STl g2

(A) On the base coat | S HIe R

(B) On the surfacer coat | JhY HIc W
(C) On the primer coat | WWW
(D) Onthe metal | YTd UX

Correct Answer : A

(10). What is the name of slight hollow created while a car hit an object? | Ud

HR B! ! a%g ¥ THIH TR g4 AR WIad BT AH 1 82
(A) Dent | ST

(B) Scratch | &b

(C) Crack | shep

(D) Cut | PE

Correct Answer : A

(11). What is the use of rubbing compound material? | AT HUTSS AT BT
ST T §?

(A) For car sanding | W@%"T%ﬁﬂ



(B) For car polishing | WW%%’Q
(C) For car painting | PR UfeT %%I'Q
(D) For cartouch up | PR cd &rtr%f%m

Correct Answer : B

-\

(12). Which tool used to remove the car’s small dent? | PIX & BIC S Dl 6CI:|

& foTg fore JUeHRUr &1 ST fodlT ST 82
(A) By mallet | H0IC GRT

(B) By hammer | 8AR I

(C) Dinging hammer | fSRRT R

(D) By file | TPT3C BHIh

Correct Answer : C

(13). What is done after the automotive body primed and putty applied? |

3iferAifea aTet 3 UIsH 3R Yt oM & 918 o1 fan ST 82
(A) Apply the surfacer | XWHIR T

(B) Apply paint | U T

(C) Apply wax polish | doRT TR TITT

(D) Apply top coat | M PpIe Q'Il‘j\cb\{'

Correct Answer : A

(14). Which hammer is mostly used for removing dents from automobile body? |

IR d Sie! ¥ 3¢ geM & e f5T giS &1 WIeiaR STHTS fhar ST 87
(A) Ball peen hammer | anatﬂ:r%m




(B) Cross peen hammer | mlﬂ:{%ﬂ?
(C) Planishing hammer | lﬁﬁlﬁl‘l%ﬂ?
(D) Claw hammer | ?ﬁﬁ%ﬂ?

Correct Answer : C

(15). Which option is good to remove the minor scratches from the car body? |

HR JIS T AT WRId oM & oIt &1 I fadhed 331872

(A) Paint repairing | Uc & IRFd

(B) Top coat repainting | TIg B AUl

(C) Clear coat scratch repair marker | fRTIR Bic Thg ROaR AT
(D) Repainting | Jafd

Correct Answer : C

(16). What is the major reason for paint rundown and sagging? | PREEIRG GﬁT

BT BT TR RO AT &2

(A) Low air pressure | H gd[ bl qdld

(B) High pressure | 3% gard

(C) Thick coat of paint applied at a time | Wﬂmﬁaﬁﬁjﬂﬂﬁ?
(D) Incorrect thinner use | TTeld O R &1 SUANT

Correct Answer : C

(17). Which is the most versatile paint in automotive paints? | &ﬁaﬁﬁaﬁzﬂﬁ
ey 9gq% Ue pH AT 8?

(A) Epoxy paint | suﬁ%ﬁﬁ'c’




(B) Polyurethane paint | tr‘l%-ﬂgifﬂqﬂ?
(C) Stoving enamel paint | @ﬁ'ﬂgﬁﬂﬁﬂ?
(D) "N.C" paint | "N.C" Uc

Correct Answer : B

(18). How is uneven sanding prevented? | W@%"Tﬁﬁ%ﬁ%’r‘
(A) By using long even strokes | A qHI dP %Q\IOIO BT SUINT HIh

(B) By keeping the paper well soaked | BT Bl G@W@ﬁ-ﬂ'ﬁﬁ@

(C) By changing the paper grade often | SRR TR IS Iaad

(D) By using a sanding block | AT ATh BT IYTANT HIb

Correct Answer : D

(19). Which colour shade is mostly used for machine tool? | mzﬂ?g?«r%ﬂ%mﬁq
T WS TTeTaR SUANT o STl 62

(A) Off-White | ¢fHd Gl
(B) Apple green | T U
(C) Yellow | Otel

(D) Red | AT

Correct Answer : B



(20). What is the type of paint defects? | Uc &% T bR T 82

#
oy

(A) Wrinkling | fRre+
(B) Bubbling | SEfciT
(C) Chalking | {1
(D) Blistering | &R AT

Correct Answer : A

(21). What is the use of putty? | G&1 &1 SUTNT &7 g2

(A) To level surface damage | T8 b W ! THAM
(B) To remove paint | Uc 6€|e| %ﬁfq
(C) For drying primer | WW%W

(D) For drying surfacer | RBEIE {;J,QQII'}I %ﬁm

Correct Answer : A

(22). Which metal particles are mixed in base coat paints? | Wﬁfﬂ?ﬂﬁm
eTd & U I T ST 872

(A) Golden particles | Tquf o7

(B) Aluminium particles | Q?}[ﬁ’ﬁﬂﬂ%ﬂ



(C) Bronze particles | B b B
(D) Brass particles | Wdd & Bl

Correct Answer : B

(23). Which putty is mostly used as a filler while repainting the car body? | ®IX

gle! @ NUic ®d 9 {6 g Uid &1 STelaR fhar & &0 H 3aTd fhar
ST 8?

(A) Enamel putty | S3H Jg!

(B) Polyester putty | UITCTG¥CR Yet
(C) N.C.putty | TTH Yl

(D) Wall putty | SIOR g1

Correct Answer : B

(24). What is “N.C" paint? | “N.C" U€ ST §?

(A) Fast air drying paint | ?I\_ng?ﬂﬁﬁ@e[wa?

(B) Slow air drying paint | %ﬂtﬁvﬁrﬁwﬁﬁﬁwﬁz
(C) Stoving bake paint | TifdTdd Ue

(D) Water borne paint | A SffHid e

Correct Answer : A

(25). Which heat resistance paint is used inside an oven? | Uch AaT®H Gidim

ST UfeRIYS Ue BT SUTNT fohdT il 62
(A) White stoving paint | m@ﬁ"{aﬁ’
(B) White enamel paint | Faﬁsﬁtlﬁaf



(C) Aluminium paint | Q@ﬂﬁ'ﬂﬂﬂ?
(D) White "N.C" paint | I%& “N.C" Uc

Correct Answer : C

(26). How the rubbing compound affect on the finish coat? | i Pie IR e

i B YHIfId BT 82

(A) The finish coat shines and the top coat is marginally cut | < PIe T B

g 3R 2 P Angell &9 ¥ e A s
(B) The finish coat damages | Wﬁ?éﬁﬁﬁﬁﬁ%
(C) The finish coat looks white | WWWW%

(D) The finish coat looks dull | i e g BPT\SIICII %

Correct Answer : A

(27). What is the use of liquid compound? | WWWWW%?
(A) To shine a painted surface | T Uc &1 §g g B! dH®M o 1018

(B) To the extra shining on painted surface after wax polishing and UV protection

| T TIfeT=T 3R gdl TWREUT o 971G Ue &1 g3 Ide WR Sifaad aH7ed & forg
(C) To sand a painted surface | o UC B! g5 Idg Pl TTSHR UG & 1Y
(D) To level a painted surface | T Uc &1 g8 Udg ! IHAA P b oY

Correct Answer : B

(28). What is lacquer? | WTJP:IT%?
(A) Opaque | 315||§352i|
(B) Transparent | UReRf®



(C) Semi-transparent | ﬂﬁ-QIan”
(D) Solid paint | BINER

Correct Answer : B

(29). Which method is best for removing minor scratches from painted surface of

acar? | Wﬁﬁfﬁ@éﬂﬂgﬁmﬂgﬁ R B 6CI:| %mﬁ:{?ﬁﬁﬁ[ﬂa@
3T 87

(A) Sanding on scratched surface and repaint it | Waﬁwmiﬁ Sl
3R I R I gamT

(B) Apply auto paint polish by rubbing with mulmul cloth or electric car polishing

machine | ATHd & DHUS T Falfdedh HR USRI TR H TWTSHR el U
GiTer=T oy
(C) Wash the surface with water | Wﬁﬁ@ %h'Q

(D) Scrap on scratched surface and repaint it | Wﬁﬂﬁ%’ﬁ@?‘qﬁ 3R
T R A Yo B

Correct Answer : B

(30). Which paint defect occurs when the spray gun is hold to far from the

surface? | ST T 7F g T 9gd gR &Il & ol 1< 1 Ue S BT |7
(A) Blistering | Teee iR

(B) Sagging | VT

(C) Dryspray | S5 &

(D) Dirt inclusions | $¢ ST

Correct Answer : C



(31). Which defect occur due to excessive use of putty or very thick coat of paint?

| ge a1 e & 9gd HIC PIC & SIS SUTNT & HRUI I A1 &IV 5idl o7
(A) Chipping | =t

(B) Blistering | fodT&e ¥

(C) Chalking | T

(D) Fading | BpfaT

Correct Answer : A

(32). Which colour code is used for a safety of a machine? | WﬁQT%%m
o T o HIS BT SUTNT fhaT STl g2

(A) Green | B
(B) Blue | Atell
(C) White | TG
(D) Yellow | Gl

Correct Answer : D

(33). Which is the first layer of automobile repainting? | mmﬁ
Tgal IRd ®IH 1 g2

(A) Primer coating | Wﬁﬁ"[
(B) Paint spraying | ﬁ?ﬁm
(C) Putty filling | g1 fthfeiT

(D) Surface coating | T8 PICT

Correct Answer : A



(34). Where the grey surfacer applied in automobile painting? | &ﬁlﬂﬁlﬁlﬁﬁ Ufe
o U HR Bl Il oIl 872

(A) On surfacer coat | JHYg Hic R
(B) On the metal | YT UX

(C) On base coat | ST PHIC W

(D) On primer coat | WWW

Correct Answer : D

(35). Which type of paint is mostly preferred at present? | Jaq B forg TR &1
Uc SeTaR UNiE fohar STTar g2

(A) In base coat and clear coat | S PHIc GﬁTFTE’Wﬁ
(B) Water borne | od Sifd
(C) Solvent base | Glcde 99

(D) In polyurethane | U\Jl?ﬂ'ﬂbx’a:fﬁ

Correct Answer : B

(36). How to avoid over-spray while touch up car body painting? | PR dis! Ul

DI T B THT MR- Y HY Fe?

(A) Do masking | AT &

(B) All car body painting should be done | §HI ®R dle! UfdT &1 ST =MiRY
(C) Do polishing | IR &Rd §

(D) Do sanding on over-spray | 3TaR-T TR AT H

Correct Answer : A



(37). Which paint is used for the exhaust system chimneys? | T yorrett femt
& fore fopg e o1 SuaT far wmar 8

(A) Aluminium paint | TegHi=-ad G
(B) White N.C. paint | gWhq T-. 4. Ue
(C) White stoving paint | GW¢ Ifdi Ue
(D) Yellow enamel paint | G 34HA 3T

Correct Answer : A

(38). Why does a mottllng defect occur on a metallic base coat while painting? |

UfeT Hd THY UTfcdd 99 die IR U HIdfcT 4y &l gIdl 82
(A) High air pressure to spray gun | TH@W%]%I’Q 3™ &dl [ qdld
(B) High viscosity of paint | Ue o 3= Rufurge

(C) Spray gun hold too far from the surface | L RIC KA ddo | dgd ?R%

(D) Spray gun hold too close to the surface | L RIE K| qdg & dgd WW

Correct Answer : D

(39). What is color fading of paint? | aﬁﬁWWW@?ﬁé?
(A) Increase in colour of painted surface | %ﬁ@éﬂﬂg%ﬂﬁg@
(B) Decrease in gloss of painted surface | ﬂ‘c’ﬁg% ddo Pl THS H HHI

(C) Increase of gloss of painted surface | ﬁ‘c’ﬁg% ddo I THD H qf@

(D) A gradual loss of color from painted surface | ﬂzﬁgéﬂa‘s'@rwwqaa
S {Hch Jh 4T

Correct Answer : D



(40). Which paint will be affected by a mottling defect? | nﬁ'd%maw@rﬁ‘rrm
Ue gyifad gime

(A) Metallic paint | Tty 3T
(B) Enamel paint | sﬁﬂaw
(C) Epoxy paint | @'\Iﬁﬁ?

(D) Solid paint | B {T

Correct Answer : A

(41). Which paint is good for spot repair / touch up painting? | W\IJ_C’W/E?[

319 Ufe & forg &1 w1 te a1 82
(A) “N.C" paint | "N.c" Uc

(B) Stoving paint | TIdT Ue

(C) Enamel paint | STHA 3T

(D) Water borne paint | SId SIi-d Ue

Correct Answer : A

(42). Which coat is applied on a paint for shining purpose? | dH®H QIR 3%5221 &
forg Ue IR 19 I Pl AT Il 82

(A) Clear coat | [dTR Pl

(B) Surfacer coat | Thy dlc

(C) Base coat | ST BIC

(D) Matt finish paint | A ffaer e

Correct Answer : A



(43). Which color shade is preferred for articles or home appliances painting? |

3MEH e a1 IR SUBRUI Bt UfT o T I A1 37 Ui ot STt 2
(A) Dull shade | SAS

(B) Attractive and Colourful | 3T&N® 3R TH

(C) Dark shade | ST US

(D) Black | BTaT

Correct Answer : B

(44). What is the type of paint defects? | ﬁfaﬁwwwwép

(A) Run down and Sagging | X1 SI31 3R IR

(B) Paint flaking/ peeling and Cracking | a?qﬁﬁ’m/@ﬁ?ﬁ 3R T
(C) Paint efflorescence and Orange peel | Uc ‘éLI'Q“I\IQ\I{-\Ir%I Us 3T Ui
(D) Brush marks and Chalking | ST & = 3R FTp HRAT

Correct Answer : B

(45). Which is two-pack system paint? | g\-%ﬁmﬂ?ﬁ‘rrm%?
(A) Polyurethane paint | tﬂ%ﬁgifﬂ:rﬂ?
(B) Stoving enamel paint | @ﬁ"[%ﬁﬂﬂﬁf



(C) Primer | UIQHX
(D) Waterborne paint | STeST-d Ue

Correct Answer : A

e  ON

(46). How to repair a cracking defect surface? | U i1 fsthde ddo CARERE:I

B BI?
(A) Apply primer and repaint | W\ﬁ?ﬁﬁfﬁl"lﬁ

(B) Remove finish coat from affected area, apply primer/sealer and then repaint

it | THTRIT &1 9 fofwr e fRoprd, UrisiR / iRk ar s SR fhr s i @
J1E

(C) Apply thick paint on it | WW‘TIETa? TG

(D) Apply thick surfacer oniit | 39 R A JHIR A

Correct Answer : B

(47). What is the name of this equipment? | S SUDH U] b [[H H] %?

(A) Electric hand grinding machine | 3@%%@' ‘;Ilglgll =Rl
(B) Electric hand sander machine | ﬁ%%@@@?mﬂq

(C) Electric car polishing machine | s@n'o?;cb HR I RAT A=A




(D) Electric saw machine | 3@% 3RT AR

Correct Answer : C

(48). Which color defect occurs if the viscosity of the paint is low? | U[%T‘Tﬁ

ferafroTge %0 8 Al 19 WIS BT 82
(A) Blistering | fodr@efRa

(B) Chipping | FIftT

(C) Chalking | {1

(D) Run down | 3 S134

Correct Answer : D

(49). What is the cause of chalking defect on the painted surface? | ﬁlﬁ?fﬂﬂ’s’tﬂ

(T Y BT HRUT AT 5?2

(A) Occurs due to dust in the atmosphere | qrdTaRo H %%Wm%

(B) Occurs due to excessive sunlight, moisture | IR Yy, ﬁ%WEﬁﬁT%
(C) Occurs due to water flow | U1 & S8Td & HRUI BIdl &

(D) Occurs due to cold weather | E%W%W@Fﬂ%

Correct Answer : B

(50). Which is the best paint for machine? | mfﬂ:r%ﬁi%m g 33T U B T

g?

(A) Lustre paint | @R Uc

(B) Epoxy paint | SUIGHI Uc
(C) Emulsion paint | SHeR Uc



(D) "N.C" paint | "N.C" Uc

Correct Answer : B



